Ix?-Ex - 12 =0
X\l‘?.: St mg _ gJ: A 7 \'34‘5-

h ~\>_,/‘"b-

@ UxtL = X —h

. \
reisaste i )(,,;12232/ o ;L‘E:)Lio } Pl
XL = (x=u)
X+ = x%*— &x + AC
Z_8x + A = O

x,= 3 J&i-s¢ 9+ 5 7 F

_ 7
Y
@ =¥ L 2aail= 2~+ 25 =20
Y — ,'L .



: _ |
@‘) Ax*+3x-6 (x =)=+ = . — |

o"lx‘quMxﬂLAS (K -\-BB(K,{_ %\) B X+3
DEBX-6D  x,= SE[94H0 _ 3T 51
4 o > _ 10
Ix+ M x 418 > h |
X\\?,: — M i m _ _.“'t,x /77 —%2
H H |
\Q —\3

@ X+ 2

—— 2«0 Fx-3+#£0

x—3 .
X # 3

X=3 X # .3
> X by —_
£ ) =
X+L 20 A-§L0 \ B
XQ—L x<,5 X*‘Z.,Z:O en A—3D0
) X E-2, x2>3
© O
J. ! it



